
 

 

STVTD SERIES 
COFFEE BREWER 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

FEATURES: 

TVT TECHNOLOGY 

DUMP VALVE 

SLIDE OUT TRAY 

WITH FAUCET 

OR 

WITHOUT FAUCET 

TALL PROFILE 

SPARE PARTS CATALOG
Part Numbers:  784545 & 784820 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 2

 
TABLE OF CONTENTS 

 
BASE ASSEMBLY Pages 3 – 4 
  
Valve Assembly Page 4 
  
TANK ASSEMBLY Pages 5 - 8 
  
SLIDE OUT TRAY ASSEMBLY Pages 9 - 10 
  
TUBES Pages 10 - 11 
  
FABRICATED PARTS Pages 11 - 13 
  
MISCELLANEOUS COMPONENTS Pages 13 - 19 
  
  
  
  
  
  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 3

 
ITEM # IMAGE DESCRIPTION UM 

Base Assembly 

706115 

 

Base Assembly, GX FETCO 22.5” 1  EA.  

100078 
 

Bumper Foot with Screw 1  EA.  

100256 

 

Bumper Foot, Plastic Stove 1 EA. 

100665 
 

Bumper Toe, NEWTAP 1 EA. 

105048 

 

Screw with Washer, 8-32 x 3/8” PPHMS SS 1 EA. 

105096 

 

Screw, Black Zinc 8-32 x 3/8” SPHMS 1 EA. 

701634 
 

Face Plate, Single Dispenser Base 1 EA. 

706113 
 

Base Top, GX FETCO 22.5” 1 EA. 

706116 
 

Base Bottom, GX FETCO 22.5” 1 EA. 

 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 4

 
ITEM # IMAGE DESCRIPTION UM 

Base Assembly – Continued 

784723-BPC 

 

Rail, 1 Gallon FETCO Riser BPC 1  EA.  

Valve Assembly 

784793 

 

Valve Assembly, STVTD Coffee Kip & PDS 1 EA. 

100155 

 

Male Connector, 1/4"C x 1/8”NPT with Nut 1 EA. 

100255 

 

Solenoid Valve, Skip 1 EA. 

705454 

 

PDS Valve Assembly, High Flow Flare x Stem x Plug 1 EA. 

     

     

     

 
 
 
 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 5

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly 

784798 

 

Tank Assembly, STVTD 1375W/5500W 1  EA.  

100030 

 

Brass Gasket, Tin Plated .566”ID 1 EA. 

100054 

 

Lock Washer, External Tooth #8 SS 1  EA.  

100061 

 

8-32 Hex Nut, SS 1  EA.  

100431 

 

Nut, Brass Tin Plated 9/16-24 x 11/16” Hex 1 EA. 

101720 

 

Female Connector, Tin Plated 3/8”c x 1/8”NPT 1 EA. 

102835 

 
Bulkhead, Outlet Faucet Tin Plated 1 EA. 

110125 

 

O-Ring 3/8” x 9/16” x 3/32” 1 EA. 

111635 

 
Hose Clamp, .574”ID 1 EA. 

 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 6

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – Continued 

201275 

 

Brass Insert, 3/8” [1/2” Tube] 1  EA.  

201276 
 

Retaining Ring, 3/8”ID SS 1  EA.  

701939 
 

Silicone Tube, 1/4" x 3/8” x 15” 
[152218 Tubing] 

1  EA.  

767144 

 

Elbow, 90° Male x 1/8”NPT .25”ID 1  EA.  

784464 

 

Square Silicone Gasket 1  EA.  

784721 

 

Tank Only, Square STVTD 1  EA.  

784797 

 
Tank Lid Assembly, 1375W STVTD 1 EA. 

04-0386 
 

Washer, .451”ID x .750”OD SS 1 EA. 

100025 

 

Spray Head Gasket 1 EA. 

 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 7

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – Continued 

100030 

 

Brass Gasket, Tin Plated .566”ID 1  EA.  

100054 

 

Lock Washer, External Tooth #8 SS 1  EA.  

100061 

 

8-32 Hex Nut, SS 1  EA.  

100177 
 

Male Elbow, 1/4"F x 1/8”NPT Tin Plated 1  EA.  

100190 

 

Jam Nut, Brass 1/2"-20 1  EA.  

100409 

 

Brass Gasket, Tin Plated .520”ID 1  EA.  

151677 
 

Temperature Probe, Dual 7.312” 1 EA. 

411039 
 

Hose Clamp, .510”ID 1 EA. 

500038 

 

Silicone Grommet, .060” No Slit 1 EA. 

 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 8

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – Continued 

500350 

 
Grommet,  Water Probe 5/16” 1  EA.  

500399 
 

Water Probe Assembly, 1.975” 1  EA.  

701286-10 

 

Heating Element, 1375W/120V 5500W/240V 1  EA.  

701438  Lead Wire, 12GA Orange/White 6.5” Teflon 1S – 3CS 1  EA.  

705002 

 

Limit Thermostat, 66TM DPST 40A 6000C 1  EA.  

784625 

 

Tank Lid, Only Square Dump TVT 1  EA.  

784707  Lead Wire, 12GA Orange/Black 6” Teflon 1S – 3CS 1 EA. 

     

     

 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 9

 
ITEM # IMAGE DESCRIPTION UM 

Slide Out Tray Assembly 

705985 

 

Slide Out Assembly, GX Without Riser 1  EA.  

100242 

 

Screw, 8-32 x 1/4" SPHMS SS 1  EA.  

105048 

 

Screw with Washer, 8-32 x 3/8” PPHMS SS 1  EA.  

105110 

 

Screw, 6-32 x 3/8” Combo Black Zinc 1  EA.  

701172 
 

Cover Plate, Slide Out Tray 1  EA.  

701173-BPC  Handle Plate, Slide Out BPC 1  EA.  

701181 

 

Top Drawer Panel, Slide Out Tray 1 EA. 

701183 

 

Bottom Drawer, Slide Out Tray 1 EA. 

701186 
 

Slide Drawer, Black Slide Out Tray 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 10

 
ITEM # IMAGE DESCRIPTION UM 

Slide Out Tray Assembly – Continued 

706238-NYL-L 

 

Nylon Tee With Inserts, Left 1  EA.  

706238-NYL-R 

 

Nylon Tee With Inserts, Right 1  EA.  

Tubes 

103476 
 

Silicone Tube, 3/8” x 5/8” x 10” 
[152213 Tubing] [Dump Valve to Tank] 

1  EA.  

107342 
 

Silicone Tube, 3/8” x 5/8” x 6.5” 
[152213 Tubing] [Dump Valve to Tank] 

1  EA.  

111597 

 

Spray Head Tube, SS Tall Without Bend 1 EA. 

152151 
 

Silicone Tube, 3/8” x 5/8” x 1.5” 
[152213 Tubing]  

1 EA. 

781496 
 

Silicone Tube, 3/8” x 5/8” x 3” 
[152213 Tubing] 

1 EA. 

784710 

 

Fill Tube, SS STVTD 1 EA. 

 
 
 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 11

 

ITEM # IMAGE DESCRIPTION UM 

Tubes – Continued 

784711 
 

Inlet Tube Assembly, Copper STVTD 1 EA. 

784795 

 

Silicone Tube, 3/8” x 5/8” x 36” 
[152213 Tubing] 

1  EA.  

784796  
Silicone Tube, 3/16” x 3/8” x 10” 

[103503 Tubing] 
1  EA.  

Fabricated Parts 

102819 

 

Timer Access Plate 1 EA. 

511007 

 
Cord Plate, 240V 1 EA. 

702353 
 

Cover, GXF8D 1 EA. 

784712 NA Upper Wrapper Assembly, SS TVTD 1 EA. 

784715 NA Cap, SS 17.1” STVT Riser 1 EA. 

 
 
 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 12

 
ITEM # IMAGE DESCRIPTION UM 

 Fabricated Parts – Continued 

784716 NA Retainer, SS Faucet Tube 1  EA.  

784717 NA Column, SS STVTD 1  EA.  

784718 NA Front Access Panel SS, STVTD 1  EA.  

784722 

 

Riser, SS 17.1” W/SLD Faucet Arm 1  EA.  

782435 
 

Bracket, Reverse Faucet Arm 
[“Faucet” Model Only] 

1  EA.  

782436 

 

Cover, Reverse Faucet Arm 
[“Faucet” Model Only] 

1  EA.  

784463 

 

Standoff, Heat Sink 1  EA.  

784542 NA Riser, STVTD Reverse Faucet No Slide Out 17” 1  EA.  

     



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 13

 
ITEM # IMAGE DESCRIPTION UM 

Fabricated Parts - Continued & Miscellaneous Components 

01-1193 

 

Adaptor, Vaculator Tin Plated 1  EA.  

04-0386 
 

Washer, SS .451”ID x .750”OD 1  EA.  

05-0487 
 

Plastic Panel Cover, Reverse Faucet Hole STVTD 1  EA.  

100054 

 

Lock Washer, External Tooth #8 SS 1 EA. 

100060 

 

Screw, 8-32 x 5/8” SS 1  EA.  

100065 

 

Screw, 6-32 x 5/16” PPHMS 1  EA.  

100120 

 

Flat Washer, #8 SS 1 EA. 

100166 

 

Compression Sleeve, Brass 3/8” 1 EA. 

100170 

 

Compression Nut, Brass 3/8” 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 14

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

100354 

 

Plug, 1/4" Barbed   
 [“No Faucet” Model Only] 

1  EA.  

100408 

 

Plug, 3/8" Barbed   
[“No Faucet” Model Only] 

1  EA.  

102129 

 

Insulated Sleeve, 1/4” Straight 1  EA.  

102662 

 

Lead Wire, 18GA White 12” Teflon 1-1 1 EA. 

105043 

 

Screw With Washer, 6-32 x 3/8” PPHMS SS 1  EA.  

105048 

 

Screw With Washer, 8-32 x 3/8” PPHMS SS 1  EA.  

110125 

 

O-Ring 3/8” x 9/16” x 3/32” 1 EA. 

110449 

 

Dump Valve With Vent Tube 2.5” 1 EA. 

110626 

 

Rocker Switch, DP/ST Rectangular 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 15

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

110941 

 

Nylon Washer, .151” x .345” x .031” 1  EA.  

111424 

 

Spray Head, Round Dump .107” Holes 1  EA.  

111634 

 

Hose Clamp, .459”ID 1  EA.  

111635 

 

Hose Clamp, .574”ID 1 EA. 

111684 

 

Triac, 40 Amp 600 V 1  EA.  

120025 

 

Spacer, 6-32 x 1/4" Hex x 7/16” L 1  EA.  

120159 

 

Elbow, Modified 3/8” x 3/8” x 5/8 Tube 1 EA. 

120248 
 

Label, FP W/P TVT GX NK NEWCO 1 EA. 

121659 

 

Heat Sink, 4.6” x 2.4” x 1.5” 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 16

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

152164 

 

Washer, SS .218”ID x .562”OD 1  EA.  

201275 

 

Brass Insert, 3/8” [1/2” Tube] 
[“No Faucet” Model Only] 

 
1  EA.  

411039 
 

Hose Clamp, .510”ID 1  EA.  

511027 

 

Screw, 8-32 x 3/8” PPHMS SS 1 EA. 

511053 

 

Terminal Block, 240V 1 EA. 

511054 

 

Cable Connector, 3/4”  1 EA. 

511133 

 

Lead Wire, 18GA Black 12” Teflon 1-1 1 EA. 

700056 

 

Washer, .390”ID x 1.00” SS 1 EA. 

701046 

 

Dump Valve Assembly, 2.5” Vent Tube Turned 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 17

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

701237 

 

Power Cord, 14/3 With #10 O-Ring 1  EA.  

701511 

 

Nylon Washer, #6 .150” x .312” x .015” 1  EA.  

701527 

 

Gourmet Brew Basket, SS WB 1  EA.  

701720 

 

Brass Insert, .30” Tin Plated 1 EA. 

702167 NA Barrier Paper, 6” x 5.25” 1 EA. 

705228 

 

Bushing, Snap 1 1/8” 1 EA. 

780995 NA Harness, Water Level Probe 1 EA. 

784463 NA Standoff, Heat Sink DTVT 1 EA. 

104120 NA Harness, TVT Liquid Level CN3 1 EA. 

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 18

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

784547 NA Label, Face Plate NEWCO No Faucet 1  EA.  

120256 

 

Liquid Level Board, NHW/TVT 1  EA.  

784703 NA Harness, Main Coffee STVTD 1  EA.  

784704 NA Harness, Fill White Coffee STVTD 1  EA.  

784705 
 

Harness, Triac Dump STVTD 1  EA.  

784706 NA Lead Wire, 12GA Orange/White 21” Teflon 1-3CS 1  EA.  

784707 NA Lead Wire, 12GA Orange Black 6” Teflon 1S-3CS 1  EA.  

784708 

 

Lead Wire, 12GA Orange/Black 24” Teflon 1S-1 1  EA.  

784519 

 

Control Board, TVT Square Tank Dump Valve 1  EA.  

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 19

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components – Continued 

900625 

 

Female Adaptor, Push On .250” 1  EA.  

784543 

 

Kit, STVTD Reverse Faucet ADA 1  EA.  

102770 

 

ACE Faucet with Red Handle 
[“Faucet” Model Only] 

1  EA.  

100281 

 

Plug, 3/8” Hole Plastic 1  EA.  

     

     

 
 
 
 

    

     

     

 



STVTD SERIES: COFFEE - TALL 

6-25 -14                                                                 NEI 1.800.325.7867 

 www.newcocoffee.com 

P a g e  | 20

 
 


